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INSTRUCTIONS

1. Write your name and name of school inthe space provided on the front page of this Question Paper.
9 U U H R T I WR 3791 A, femerd &1 AW ford |

2. No additional sheets will be provided for rough work.
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3. Blank papers, clipboards, log tables, calculators, cellular phones and electronic gadgets are not allowed.
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4. The answer sheetis provided separately.
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5. Do not tamper with/mutilate the Question Paper.
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6. Do not break the seals of the question paper booklet before beinginstructed to do so by the invigilator.

TjdeTeh bl STFAfT @ ST I% g1 A7 Wil

7. The question paper contains total 50 questions.
9 UIH H gt 50 U eI A F |

8. For each question you will be awarded 3 marks if you have given correct answer and zero marks if any
guestionis not attempted. For each wrong answer 1 mark will be deducted.
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. Which of the following is a protein digesting enzyme present in
the secretion of gastric glands —
(1)Amylase  (2)Pepsin

. Select the incorrect statement —
(1) The lining of small intestine possess finger like projections
called villi.

(2) Bile salts are helpful in digestion of fats in small intestine

(3) Emulsified fats are digested by the activity of trypsin

(4) None of the above

. In human beings, the following structure provides a surface for
exchange of gases (O, & CO,)—
(1) Larynx (2) Trachea

(3) Trypsin (4) Lipase

(3)Bronchi  (4)Alveoli

. The respiratory pigment called haemoglobin in human being
transports the following substance in blood —
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(1) Oxygen (2) Nutrients of food

(3) Nitrogenous wastes (4) All of these

Presence of two chambed heart which pumps the blood to the gills
isa feature of —

(1) Reptiles (2)Mammals (3)Fishes (4) Amphilians

Go through the following figure of human heart & 1dent1fy the

structures labelled as'A' & 'B'—

(1) A—Pulmonary vein, B —Left ventricle

(2) A—Pulmonary arteries , B—Right ventricle

(3)A—Aorta, B—Right atrium

(4) A—Venacava, B—Leftatrium

Select the correct statement —

(1) Arteries collect the blood from different organs & bring it back
to the heart

(2) Veins carry the blood away from the heart

(3) Normal diastolic pressure is 120 mm of Hg

(4) Capillaries have walls which are one cell thick

Artificial kidneys contain a dialysing fluid which has the same

osmotic pressure as blood plasma except that it is devoid of —

(1) Glucose (2)Ions

(3) Nitrogenous wastes (4) All of these

Find the correct pathway of flow of urine through human

excretory system—

(1)Kidney — Ureter = Urinary bladder = Urethra

(2) Ureter — Urinary bladder ® Kidney — Urethra

(3) Kidney — Urethra — Urinary bladder — Ureter

(4) Urinary bladder — Kidney — Ureter = Urethra

The nephrons in human kidneys receive oxygenated blood from

the branch of -

(1) Hepatic artery (2) Renal vein

(3) Phrenic artery (4) Renal artery

The transmission of nerve impulse at neuromuscular junction

occurs from—

(1) Muscle fibre to axon (2) Axon to muscle fibre

(3) Axon to dendrite (4) Muscle fibre to dendrite

The involuntary action including vomiting & salivation are
controlled by which part of brain —

(1) Cerebrum (2) Hypothalamus

(3) Mid brain (4) Medulla

The peripheral nervous system consists of —

(1) Cranial nerves only (2) Spinal nerves only

(3) Both cranial & spinal nerves (4) Brain & spinal cord

Which of the following endocrine gland is located in neck region—
(1) Adrenal (2) Pancreas

(3) Pituitary gland (4) Thyroid gland

Which of'the following is not an effect of adrenaline secretion —
(1)Rises heart beat

(2) Rises breathing rate

(3) Diverts the blood to our skeletal muscles

(4) Blood supply to digestive system is increased

Iodine in the diet is essential for the synthesis of which hormone in

human body —
(1) Thyroxine (2) Growth hormone
(3) Insulin (4) Testosterone

The malarial parasite (Plasmodium) divide into many daugher
cells simultaneously by —

(1) Budding

(2) Regeneration

(3) Multiple fission

(4) Sexual reproduction

Go through the following figure of female reproductive system &
identify the following structures labelled as X' & 'Y'—

(1) X—Cervix, Y —Ovary
(2) X—Ovary, Y —Cervix \ 1/
(3) X—Oviduct, Y — Uterus M /
(4) X —Cervix, Y —Fallopian tube i
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To prevent the pregnancy, copper-T is placed in the —

(1) Vagina (2) Uterus

(3) Oviduct (4) Ovary

Which of'the following is a sexually transmitted disease caused by
bacteria—

(1) Syphilis (2) Genital warts

(3)AIDS (4) Trichomoniasis

The experiments on evolution conducted by stanley miller &
harold urey in—

(1)1953 (2) 1945 (3)1980 (4) 1920

Analogous organs are —

(1) Similar in origin, differ in function

(2) Similar in function, differ in origin

(3) Similar in both origin & function

(4) Differ in both origin & function

Which of'the following is a fossil invertebrate —

(1)Knightia ~ (2) Rajasaurus (3)Trilobite  (4)Planaria

Study of the evolution of human beings indicates that all of us

belong to a single species that evolved in—

(1) Australia (2) China

(3) South america (4) Africa

The structure of human eye which regulates & controls the
amount of light entering the eye is —

(1)Retina (2)Cornea (3) Pupil (4)Lens
Which of'the following will be considered an alive organism—
(I)Asleeping dog

(i1) A plant with the leaves other than green color

(iii) A plant that is not visibly growing

(iv) An animal inside which molecular movement is present

(1) (), G i) (2) (), G, i)

(3) (i), (iii), (iv) @) (i), (i), (i), (iv)

Whatis true regarding food and energy—

(1) Energy is needed for maintenance process

(2) Food sources are made up of carbon based molecules

(3) All raw material for body growth obtained from outside

(4) All of the above

Internal energy reserve for the animal body is—

(1) Starch (2) Glycogen

(3) Fatonly (4) Protein only

Which plants take up carbon dioxide at night and prepare an
intermediate which is acted upon by the energy absorbed by the
chlorophyll during the day—

(1) Desert plants (2) Aquatic plants
(3) Marine plants (4) Marshy plants
Which of the following is a parasitic plant—

(1) Cuscuta (Amarbel) (2) Banyan tree
(3) Mango (4) Fig

What is false about transportation in plants—

(1) Soilis the nearest and richest source of raw material

(2) A proper system of transpiration is not essential for large trees
as distances between soil contacting organs and chlorophyll is
large

(3) Energy needs differ between different body designs

(4) Plants body have a large proportion of dead cells in many

tissues

The right statement regarding plant movement will be—

(1) Movement happens at a point different from the point of touch

(2) The plants do not use electro chemical means to convey this
information from cell to cell

(3) There are specialized tissue in plants for the conduction of
information

(4) Plants have specialised protein to change the shape

Pea plants climb up other plants or fences by means of tendrils—

(1) Tendrils (2) Hooks

(3) Stem (4) Leaves

Growth of pollen tubes towards ovule is—
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(1) Hydrotropism (2) Gwtropism
(3) Chemotropism (4) Chemotaxis
The DNA in the cell nucleus—

(1) Is the information source for making protein

(2) Perform basic event in reproduction

(3) Controls heredity

(4 All

Which of the following plant will reproduce with the help of
leaves—

(1) Jasmine (2)Banana (3)Rose (4) Bryophyllum

Which of following represents right set as a unisexual and
bisexual plant respectively—

(1) Papaya, watermelon

(3) Papaya, hibiscus

(2) Hibiscus, mustard
(4) Hibiscus, watermelon

In flowering plant transfer of pollen from one flower to another is
achieved by agents like—

(1) Wind (2) Water (3) Insets 4)All

Swollen bottem part of the carpel is known as—

(1) Style (2) Thallamus (3) Stigma (4) Ovary

After ripening ovary develops into—

(1) Seed (2) Flower (3) Fruit (4) Any of them

The food store ofa seed is—

(1)Plumule  (2)Radicle (3) Cotyledone (4)All

Which of the following set of contrasting trait is not used by

mendel—

(1) Round/wrinkled seeds (2) Tall/ short plants
(3) White/violet flower (4) Colourful / colourless seed
What would be the phenotypic ratio in F, generation of a dihybrid

Cross—
(1H)9:3:3:1 (2)3:1 3)1:2:1 @®1:1:1:1
If violet colour of leaf is dominant over white then what would be
the expected number of plants with violet leaf in F, generation ifa
violet and white leaved pure plants are crossed and hundred
plants are obtained in F, generation by the selfing of F, hybrid—
(1)100 (2)50 3)75 (4)25

Which chromosome play major role in determining sex among

human—

(1) X

(3) Bothequally

1:2:1represents—

(1) Monohybrid phenotypic ratio

(2)Dihybrid genotypic ratio

(3) Monohybrid genotypic ratio

(4) Dihybrid phenotypic ratio

The cross of two hybrid tall plant will give as their progeny—

(1) Only tall plank

(2) Talland dwarfboth

(3) Onlydwarfplant

(4) Bothtall and dwarfin equal amount

Genertic drift operates only in—

(1) Small population

(2) Largepopulation

(3) Population size doesn't matter

(4) Anything can'tbe said

Sex of anewborn individual can be determined by—

(1) Chromosomal combinations

(2) Environmental factors

(3) Both

(4) None

Reproduction help in—

(1) Maintaining the continuity of species

(2) Transferring character to the next generation

(3) Creating variation

(4) Alloftheabove

2 Y
(4) Nothing canbe said
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